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Unit 6 Review — Unit Circle

1. Write a ratio for all six trig functions. Write in exact, fully simplified form. 2C = 90°.
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Using a Unit Circle, find the exact value of the following.
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Evaluate the given expression, leaving the answer in simple radical form
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Determine all values of 8 from 0° through 360° for which:
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Graph the circle given by the following equation. [ 8 Po\. n+S on C\ Y (k(; 1
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Identify the center and radius for each.
29. x*+(y+4)?%2=20

Center: ( Q/— L}\

Radius: |55 -~ 1 v

Write an equation given the center and radius.
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